
1) (10 x 45) + (5 x 1-5)

Answer: ____________

2) (8 x 56) + (2 x 92)

Answer: ____________

3) (2 x 101) - (2 x 48)

Answer: ____________

4) (1 x 37) - (7 x 64)

Answer: ____________

5) (6 x 1-5) - (6 x 11)

Answer: ____________

6) (4 x 1-5) + (7 x 24)

Answer: ____________

7) (4 x 97) + (5 x 87)

Answer: ____________

8) (9 x 1-4) - (8 x 12)

Answer: ____________

9) (2 x 1-3) + (1 x 62)

Answer: ____________

10) (5 x 46) - (10 x 39)

Answer: ____________

11) (2 x 56) + (6 x 68)

Answer: ____________

12) (7 x 93) - (10 x 29)

Answer: ____________

13) (10 x 24) + (2 x 83)

Answer: ____________

14) (8 x 81) + (5 x 89)

Answer: ____________

15) (1 x 102) - (2 x 41)

Answer: ____________
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16) (4 x 84) + (8 x 16)

Answer: ____________

17) (6 x 83) - (9 x 91)

Answer: ____________

18) (1 x 49) - (4 x 53)

Answer: ____________

19) (6 x 62) - (9 x 52)

Answer: ____________

20) (3 x 92) + (6 x 66)

Answer: ____________

Total: ___ / 20
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Answers:

1) 10245 2) 125162 3) -131052 4) -6885 5) 0 6) 116 7) 29617636

8) 1 9) 38 10) -176350 11) 10108946 12) -17 13) 1184 14) 671088704

15) 92 16) 16392 17) 2991 18) 261644 19) -9 20) 280179
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